

PBR VISVODAYA INSTITUTE OF TECHNOLOGY AND SCIENCE, (Affiliated to JNTUA, Anantapuramu & Approved by AICTE, New Delhi) KAVALI – 524201, NELLORE DT., ANDHRA PRADESH.



5.4.2:

Alumni contribution during the last five years (INR in Lakhs)

	NO OF STUDENTS	EACH CONTRIBUTION AMOUNT	TOTAL RECIVED
AC YEAR 2019-20	364	300	109200.00
AC YEAR 2018-19	325	300	97500.00
AC YEAR 2017-18	312	300	93600.00
AC YEAR 2016-17	290	300	87000.00
AC YEAR 2015-16	257	300	77100.00
Total co	4,64,400.00		

Alumni

PBR VITS ALUMNI ASSOCIATION PBR VITS VISVODAYA CAMPUS, KAVALI Principal

Principal
PARVATHAREDDY BABUL REDDY
VISVODAYA INSTITUTE OF TECHNOLOGY & SCIENCE
KAVALI-524201, SPSR Nellore Dist. Andhrapradesh.

DATE: 06-04-2020 BANK OF INDIA JANATHAPET BARCH BRANCH PAGE:1

Ms. PBR VITS ALUMNI ASSOCIATION
UDAYAGIRI BOAD, JANATHAPET KAVALI CUSTID 1016366000

UDAYAGIRI ROAD, JANATHAPET KAVALI CUSTID :016366000

KAVALI
KAVALI-524201
ANDHRA PRADESH, INDIA

CURRENCY
IFSC Code :BKID0008697

IFSC Code :BKID0008697
MICR Code :524013202
Statement of Accont from 01-04-2019 to 31-03-2020

Date	Description	Instr.Nc	Debits	Credits	Balance
01-Apr -2019 5-June- 2019 26-June-2019 24-Sep- 2019 27-Dec -2019 30-Mar -2020	B/F By Cash CREDIT INTEREST CREDIT INTEREST CREDIT INTEREST CREDIT INTEREST			1,09,200.00 26,219.46 27,268.23 28,358.96 29,493.32	5,46,286.41 6,55,486.41 6,81,705.87 7,08,974.10 7,37,333.06 7,66,826.39
Total C/F:				2,20,539.98	7,66,826.39

MAKE USE OF RTGS/ NEFT FOR REMITNCE

****Update your Mobile number & email id FOR Getting SMS & EMAIL from BOI, Its free of cost****

******* RELATIONSHIP BEYOND BANKING *****************

क्षि अनुसापेट शाखा है। क्ष अनुसापेट शाखा है। क्ष Janathapet Br. DATE: 05-04-2019 BANK OF INDIA JANATHAPET BARCH BRANCH PAGE: 1 Ms. PBR VITS ALUMNI ASSOCIATION CUSTID :016366000 A/C No :869720100110319 TYPE :CURRENT- GENERAL UDAYAGIRI ROAD, JANATHAPET KAVALI KAVALI KAVALI-524201 CURRENCY :INR
IFSC Code :BKID0008697
MICR Code :524013202 ANDHRA PRADESH, INDIA

Statement of Accont from 01-04-2018 to 31-03-2019

Date	Description	Instr.Nc	Debits	Credits	Balance
	By Cash CREDIT INTEREST CREDIT INTEREST			97,500.00 18,678.72 19,425.87 20,202.90	3,69,467.91 4,66,967.91 4,85,646.63 5,05,072.49 5,25,275.39
Total C/F:				1,76,818.50	5,46,286.41 5,46,286.41

MAKE USE OF RTGS/ NEFT FOR REMITNCE

*****Update your Mobile number & email id FOR Getting SMS & EMAIL from BOI, Its free of cos

************ RELATIONSHIP BEYOND BANKING ********************

DATE: 07-04-2018

BANK OF INDIA JANATHAPET BARCH BRANCH

PAGE:1

Ms. PBR VITS ALUMNI ASSOCIATION

UDAYAGIRI ROAD, JANATHAPET

KAVALI

KAVALI KAVALI-524201

ANDHRA PRADESH, INDIA

CUSTID A/C No :016366000

:869720100110319

TYPE CURRENCY

:CURRENT- GENERAL

IFSC Code

:INR :BKID0008697

MICR Code

:524013202

Statement of Accont from 01-04-2017 to 31-03-2018

Date	Description	Instr.Nc	Debits	Credits	Balance
01-Apr -2017 3-June- 2017 22-June-2017 26-Sep- 2017 25-Dec -2017 23-Mar -2018	CREDIT INTEREST CREDIT INTEREST			93,600.00 12,632.91 13,138.23 13,663.75 14,210.30	2,22,222.72 3,15,822.72 3,28,455.63 3,41,593.85 3,55,257.61 3,69,467.91
Total C/F:	*******			1,47,245.19	3,69,467.91

MAKE USE OF RTGS/ NEFT FOR REMITNCE

****Update your Mobile number & email id FOR Getting SMS & EMAIL from BOI, Its free of cost****

** RELATIONSHIP BEYOND BANKING ***************





DATE: 05-04-2017 BANK OF INDIA JANATHAPET BARCH BRANCH PAGE:1 Ms. PBR VITS ALUMNI ASSOCIATION :016366000 :869720100110319 UDAYAGIRI ROAD, JANATHAPET KAVALI CUSTID KAVALI A/C No KAVALI-524201 TYPE :CURRENT-GENERAL ANDHRA PRADESH, INDIA CURRENCY :INR :BKID0008697 :524013202 IFSC Code MICR Code

Statement of Accont from 01-04-2016 to 31-03-2017

Date	Description	Instr.Nc	Debits	Credits	Balance
21-Sep- 2016 24-Dec -2016	By Cash CREDIT INTEREST CREDIT INTEREST			87,000.00 7,598.28 7,902.21 8,218.30 8,547.03	1,02,956.91 1,89,956.91 1,97,555.19 2,05,457.40 2,13,675.69 2,22,222.72
Total C/F:				1,19,265.81	2,22,222.72

MAKE USE OF RTGS/ NEFT FOR REMITNCE

****Update your Mobile number & email id FOR Getting SMS & EMAIL from BOI, Its free of cost****

***************** RELATIONSHIP BEYOND BANKIN

KAVALI-524201

KAVALI

DATE: 03-05-2016 BANK OF INDIA JANATHAPET BARCH BRANCH

CUSTID

PAGE: 1

Ms. PBR VITS ALUMNI ASSOCIATION

UDAYAGIRI ROAD, JANATHAPET KAVALI

ANDHRA PRADESH, INDIA

A/C No :869720100* TYPE

:869720100110319

CURRENCY

:CURRENT- GENERAL

:INR

IFSC Code :BKID0008697 MICR Code :524013202

Statement of Accont from 01-04-2015 to 31-03-2016

Date	Description	Instr.Nc	Debits	Credits	Balance
01-Apr -2015	B/F				10,908.00
5-June- 2015	By Cash			77,100.00	88,008.00
25-June-2015	CREDIT INTEREST			3,520.32	91,528.32
23-Sep- 2015	CREDIT INTEREST			3,661.13	95,189.45
28-Dec -2015	CREDIT INTEREST			3,807.58	98,997.03
26-Mar -2016	CREDIT INTEREST			3,959.88	1,02,956.91
Total C/F:				92,048.91	1,02,956.91

MAKE USE OF RTGS/ NEFT FOR REMITNCE

****Update your Mobile number & email id FOR Getting SMS & EMAIL from BOI, Its free of cost****

************** RELATIONSHIP BEYOND BANKING ******************

